
FST–01 ( 1 )   

No. of Printed Pages : 48  FST-01 

Bachelor’s Degree Programme (BDP) 
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Time : 3 Hours    Maximum Marks : 100 

 

 

GENERAL INSTRUCTIONS 

1. All questions are compulsory. Each question carries 1 mark. 

2. No cell phones, calculators, books, slide-rules, notebooks or written notes, etc. will 

be allowed inside the examination hall. 

3. You should follow the instructions given by the Centre Superintendent and by the 

Invigilator at the examination venue. If you violate the instructions, you will be 

disqualified. 

4. Any candidate found copying or receiving or giving assistance in the examination 

will be disqualified. 

5. The Question Paper and the OMR Response Sheet (Answer Sheet) would be 

supplied to you by the Invigilators. After the examination is over, you should hand 

over the OMR Response Sheet to the Invigilator before leaving the examination 

hall. Any candidate who does not return the OMR Response Sheet will be 

disqualified and the University may take further action against him/her. 

6. All rough work is to be done on the question paper itself and not on any other 

paper. Scrap paper is not permitted. For arriving at answers you may work in the 

margins, make some markings or underline in the test booklet itself. 

7. The University reserves the right to cancel the result of any candidate who 

impersonates or uses/adopts other malpractices or uses any unfair means. The 

University may also follow a procedure to verify the validity of scores of all 

examinees uniformly. If there is substantial indication that your performance is not 

genuine, the University may cancel your result. 
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How to fill up the information on the OMR Response Sheet 

(Examination Answer Sheet) 

1. Write your complete Enrolment No. in 9 digits. This should correspond to the 

enrolment number indicated by you on the OMR Response Sheet. Also write your 

correct name, address with pin code in the space provided. Put your signatures on 

the OMR Response Sheet with date. Ensure that the Invigilator in your 

examination hall also puts his signatures with date on the OMR Response Sheet at 

the space provided. 

2. On the OMR Response Sheet student’s particulars are to be filled in by blue/black 

ball pen also. Use blue/black ball pen for writing the Enrolment No. and 

Examination Centre Code as well as for blackening the circle bearing the correct 

answer number against the serial number of the question. 

3. Do not make any stray remarks on this sheet. 

4. Write correct information in numerical digits in Enrolment No. and Examination 

Centre Code Columns. The corresponding circle should be dark enough and should 

be filled in completely. 

5. Each question is followed by four probable answers which are numbered (1), (2), (3) 

and (4). You should select and show only one answer to each question considered by 

you as the most appropriate or the correct answer. Select the most appropriate 

answer. Then by using blue/black ball pen, blacken the circle bearing the correct 

answer number against the serial number of the question. If you find that answer 

to any question is none of the four alternatives given under the question, you 

should darken the circle with ‘0’. 

6. No credit will be given if more than one answer is given for one question. Therefore, 

you should select the most appropriate answer. 

7. You should not spend too much time on one question. If you find any particular 

question difficult, leave it and go to the next. If you have time left after answering 

all the questions, you may go back to the unanswered question. 

8. There is no negative marking for wrong answers. 

 

 



FST–01 ( 3 )   

1. Science and Technlogy flourished in India during : 

(1) Mughal Rule (2) Guptas Rule 

(3) Hunas Rule (4) Cholas Rule 

2. Who wrote ‘Ain-i-Akbari’ ? 

(1) Abul Fazl (2) Mirza Ghalib 

(3) Jahangir (4) Al-Biruni 

3. Architecutre in India underwent a drastic change after : 

(1) Turkish conquest (2) Portuguese conquest 

(3) British conquest (4) Spanish conquest 

4. Oxford University in Britain was founded in : 

(1) 1000 A. D. (2) 1167 A. D. 

(3) 1435 A. D. (4) 1745 A. D. 

5. Which one of the following is a navigation tool ? 

(1) Windmill (2) Water mill 

(3) Compass (4) Horse-collar 
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6. In 15th century, scientist who explained rotation of earth and other planets  

is : 

(1) Copernicus (2) Aristotle 

(3) Vasco-de-Gama (4) Pluto 

7. Revolutionary event that happened at the end of middle ages in  

Europe was : 

(1) Arab invasion  

(2) Japanese invasion 

(3) Renaissance  

(4) Chinese intrusion 

8. Who founded Aligarh Scientific Society in 1864 ? 

(1) Liyaqat Ali Jinnah  

(2) Syed Ahmed Khan 

(3) Fatima Jinnah  

(4) Ahmed Shah Abdali 

9. Which Indian scientist won Nobel Prize in 1930 ? 

(1) S. Ramanujam (2) P. C. Ray 

(3) C. V. Raman (4) S. N. Bose 
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10. Scientific knolwedge as well as law is based on : 

(1) Personal Feelings (2) Reason 

(3) Views (4) Faith 

11. Indian Civilization came into existence in the valley of which river ? 

(1) Indus (2) Nile 

(3) Tigris (4) Hwang Ho 

12. Who wrote commentaries considered to be the main Indian treatise on  

medicine ? 

(1) Sulvasutra (2) Aryaputra 

(3) Patanjali (4) Ashoka 

13. Which one of the folloiwng is not attributed to Aryabhatta ? 

(1) Earth is rotating.  

(2) Heavens is resting. 

(3) Eclipses are caused by the shadow of earth or moon.  

(4) Eclipses are caused by  Rahu and Ketu. 
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14. ................................. civilization contributed in mechanics during Iron  

age. 

(1) Chinese (2) Indus 

(3) Greeks (4) African 

15. Anxiety and mental tension can affect digestion. Which system of brain may be 

involved in it ? 

(1) Sympathetic nerves  

(2) Parasympathetic nerves 

(3) Both sympathetic and parasympathetic nerves 

(4) None of the above 

16. In Pavlov’s experiment, response of dog before training is : 

(1) Natural reflex (2) Learned reflex 

(3) Unnatural reflex (4) Unwanted reflex 

17. Insulin is secreted by : 

(1) Liver (2) Salivary gland 

(3) Thyroid (4) Pancreas 
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18. Intelligence Quotient (IQ) is defined as : 

(1) 
MA

100
CA

   (2) 
CA

100
MA

  

(3) 
MA

50
CA

  (4) 
CA

50
MA

  

19. Training a dog to help the blind involves mostly through : 

(1) Punishment (2) Natural 

(3) Reward (4) Instinctive 

20. Traditional media such a Jatra has origin in : 

(1) Tamil Nadu (2) West Bengal 

(3) Uttar Pradesh (4) Delhi 

21. What is ‘Turnkey’ technology ? 

(1) Technology and machines installed to start producing on turning  

key 

(2) Production of keys 

(3) Reusable machines 

(4) Old redundant machines 



FST–01 ( 8 )   

22. The loudness of noise is measured in : 

(1) Wavelength (2) Decibel 

(3) Hertz (4) Frequency 

23. Resolution on New World Information and Communication Order did not cover the 

following issues : 

(1) Negative effect of monopolies  

(2) Freedom and responsibility of journalists 

(3) Imbalance in information flow  

(4) Issues on sports activities 

24. Technology for Maruti Cars was imported from : 

(1) Britain (2) Germany 

(3) Japan (4) Italy 

25. India exported light fibre appliances and cable technology transfer  

to : 

(1) Kuwait (2) Sudan 

(3) Brazil (4) Burma 
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26. In India, main source of sugar is  : 

(1) Sugarbeet (2) Honey 

(3) Sugarcane (4) All of these 

27. Steel plant is located in : 

(1) Faridabad (2) Delhi 

(3) Noida (4) Bokaro 

28. Which one of the follwing is not a synthetic fibre ? 

(1) Nylon (2) Glass fibre 

(3) Polyester (4) Cotton 

29. Formula for calculating distance is : 

(1) Speed × Time (2) Speed × Volume 

(3) Speed × Length (4) Speed × Weight 

30. In fibre optics, light waves are transmitted through .............. . 

(1) Steel wires (2) Glass wires 

(3) Carbon wires (4) Zirconium wires 
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31. First human being to walk on the moon was : 

(1) Neil Armstrong (2) John Kennedy 

(3) Andre Pavlov (4) Yuri Gagrin 

32. Satellite launched at a height of 36000 km moves around the earth in 24 hrs.  

only ................ . 

(1) Twice (2) Thrice 

(3) Once (4) Four times 

33. Material chosen as absorber of neutrons in nuclear reactor is : 

(1) Zinc (2) Copper 

(3) Hydrogen (4) Cadmium 

34. In USSR in 1986 nuclear accident occurred in : 

(1) Moscow  

(2) Chernobyl 

(3) St. Petersburg  

(4) Donbass 



FST–01 ( 11 )   

35. Biotechnology involves two main techniques : 

(1) Computer hardware and software 

(2) Semiconductors and Fibre optics 

(3) Genetic Engineering and Enzyme immobilization 

(4) Artificial Intelligence and Robotics 

36. Which one of the following is not a product of semiconductor  

technology ? 

(1) Radio (2) Tape-Recorder 

(3) TV (4) Fridge 

37. Control unit of computer is called : 

(1) DUP (2) APU 

(3) CPU (4) NPU 

38. Ceramics are : 

(1) Insulators (2) Conductors 

(3) Nanomers (4) None of these 

39. Invention of wheel took place in : 

(1) 2500 B. C. (2) 1000 B. C. 

(3) 3500 B. C. (4) 6000 B. C. 

40. Which invention led to industrial revolution ? 

(1) Use of solar energy (2) Use of copper 

(3) Invention of wheel (4) Use of steam 
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41. The key phrase of new economic era is : 

(1) Production of wealth but without social justice 

(2) Production of wealth accompanied by social justice 

(3) Social justice without focus on production of wealth 

(4) None of the above  

42. When did second world war happen ? 

(1) 1939–1945 (2) 1914–1919 

(3) 1950–1955 (4) 1901–1906 

43. On an average, in a 12-hour day, we on earth receive how much solar radiation per 

sq cm ? 

(1) 500 kcal (2) 1000 kcal 

(3) 1200 kcal (4) 50000 kcal 

44. Domesticated humpless cattle during Harappan period were found in : 

(1) Punjab and Haryana (2) Assam and Nagaland 

(3) Kerala and Tamil Nadu (4) Gujarat and Rajasthan 

45. Quality of soybean is better in : 

(1) Dry areas (2) Cooler hilly areas 

(3) Wet areas (4) Plain areas 

46. Which one of the following pair is a Kharif crop ? 

(1) Rice and Maize (2) Wheat and Barley 

(3) Oat and Rye (4) Wheat and Rye 
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47. ............... is known as poor man’s cow in India. 

(1) Poor cow (2) Yak 

(3) Pig (4) Goat 

48. Integrated pest management will not be effective by : 

(1) Growing resistant varieties  

(2) Use of biological organisms to attack pests 

(3) Excessive use of chemicals 

(4) None of the above 

49. .................. is a fibre crop. 

(1) Rice (2) Cotton 

(3) Groundnut (4) Wheat 

50. Which one of the following is a cold desert ? 

(1) Ladakh (2) Arunachal Pradesh 

(3) Rajasthan (4) Karnataka 

51. Alkaline soils contain high amounts of ............ . 

(1) Potassium  

(2) Calcium 

(3) Phosphorus  

(4) Carbonate and Bicarbonate of sodium 
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52. Potatoes are rich in : 

(1) Fats  

(2) Carbohydrates 

(3) Minerals  

(4) Proteins 

53. BMR stands for : 

(1) Basic Mineral Rate (2) Basal Metabolic Rate 

(3) Benign Metabolic Rate (4) Big Mineral Rate 

54. Vitamins and minerals are called : 

(1) Energy food (2) Body building food 

(3) Watery fluids (4) Protective foods 

55. Onions are rich in : 

(1) Fats  

(2) Proteins 

(3) Carbohydrates  

(4) Minerals 
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56. Complete the following equation : 

CO2 + ........ 
Solar

Energy
  Glucose + O2  

(1) H2 

(2) H2O  

(3) H2O2 

(4) O3 

57. Which one of the following is not a manifestation of food  

allergy ? 

(1) Amoebic dysentery  

(2) Skin rashes 

(3) Asthma  

(4) Eczema 

58. Regarding BMR, the following holds true : 

(1) Female > Male  

(2) Old person > Young person 

(3) Cold climate > Hot climate  

(4) Sleep > Awake 
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59. The branch of biology that relates organisms and their environment is  

called : 

(1) Ecology  

(2) Neurology 

(3) Physiology  

(4) Virology 

60. The aminals who consume only plant products as food  

are : 

(1) Carnivores (2) Herbivores 

(3) Omnivores (4) None of these 

61. Dengue fever is an example of : 

(1) Air-borne disease (2) Water-borne disease 

(3) Food-borne disease (4) Vector-borne disease 

62. Nitrogen consitutes ............... % of atmosphere. 

(1) 11 (2) 99.5 

(3) 79 (4) 23 
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63. Ocean water has ............ parts of salt per 1000 parts of water. 

(1) 60 (2) 75 

(3) 45 (4) 35 

64. Which color of sunlight penetrates farthest in water ? 

(1) Red (2) Blue 

(3) Green (4) Yellow 

65. Destruction of forests is not caused by : 

(1) Shifting cultivation  

(2) Rainfall 

(3) Overgrazing  

(4) Commercial exploitation of timber 

66. In pollution, PAN stands for : 

(1) Peroxylacetyl nitrate  

(2) Peroxyacid nutrella 

(3) Photoanhydride  

(4) None of the above 
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67. Which heavy metal builds up in the food chain ? 

(1) Magnesium (2) Lithium 

(3) Mercury (4) Sodium 

68. How many planets orbit around sun ? 

(1) Four (2) Nine 

(3) Six (4) Five 

69. Which one is not considered to be the shape of galaxy ? 

(1) Spiral (2) Elliptical 

(3) Flat (4) Irregular 

70. Mass of Sun is .............. times of Earth. 

(1) 1,00,000 (2) 3,00,000 

(3) 10,000 (4) 30,000 

71. Dark patches on the surface of sun are called as : 

(1) Sunspot (2) Sunshine 

(3) Moonshine (4) Asteroid 
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72. When gravity pulls clouds, pressure increases, cloud contracts, the stage is called  

as : 

(1) Rising star (2) Fading star 

(3) Live star (4) Protostar 

73. ............. is a Red planet. 

(1) Mercury (2) Venus 

(3) Mars (4) Jupiter 

74. Objects that can enter Earth’s atmosphere and hit its surface are  

called : 

(1) Meteor (2) Meteorites 

(3) Debris (4) Satellite 

75. “Origin of Species” was written by :  

(1) Galileo (2) Miller 

(3) Charles Darwin  (4) Alfred Nobel 

76. Study of plant and animal life in past geological periods is  

called : 

(1) Biology (2) Palaeontology 

(3) Embryology (4) Psychology 
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77. Which one of the following is a renewable resource ? 

(1) Land (2) Soil 

(3) Water (4) Minerals 

78. Fossils of Homo sapiens suggest that modern human arose  

in : 

(1) Africa (2) Australia 

(3) America (4) Asia 

79. Formation of fossil fuels like coal, oil, gas is a part of ........... cycle. 

(1) Nitrogen (2) Hydrogen 

(3) Carbon (4) Sulphur 

80. Who made the famous ‘Mona Lisa’ painting ? 

(1) Socrates (2) Pluto 

(3) Leonardo da Vinci (4) Archimedes 

81. Famous Portuguese sailor who came to India in 1497 via ‘Cape of Good Hope’  

was : 

(1) Columbus (2) Pluto 

(3) Vasco-de-Gama (4) Antonio Bismarck 
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82. Who is author of ‘Srimadbhagwat’ ? 

(1) Kautilya (2) Vyas 

(3) Kabir (4) Valmiki 

83. Who proposed ‘Atomic Theory’ ? 

(1) Joseph Priestley (2) Isaac Newton 

(3) Charles Darwin (4) John Dalton 

84. Who said, ‘The mischief of false theories is slight compared with mischief of false 

observation” ? 

(1) Charles Dawin (2) Galileo 

(3) Socrates (4) Ramanujam 

85. Bhakti and Sufi movements came in : 

(1) Ancient India (2) Medieval India 

(3) Modern India (4) Pre-Ancient India 

86. Ice age began ........... . 

(1) 1,00,000 yrs. ago (2) 25,000 yrs. ago 

(3) 10,000 yrs. ago (4) 75,000 yrs. ago 
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87. Water is reabsorbed in kidney by : 

(1) Antidiuretic hormone (2) Antihistamine 

(3) Estrogen (4) Thyroxine 

88. Comets are made of ice with frozen gases of : 

(1) Oxygen and Lithium (2) Argon and Boron 

(3) Methane and Ammonia (4) Propane and Pentane 

89. In atmosphere, layer nearest to earth surface is : 

(1) Lithosphere (2) Pentosphere 

(3) Ionosphere (4) Troposphere 

90. Gearing devices transform : 

(1) Horizontal motion into vertical  

(2) Solar energy to wind energy 

(3) Wind energy to solar energy  

(4) Wind energy to electricity 

91. Department of environment in India was set up in : 

(1) 1970 (2) 1980 

(3) 1990 (4) 1940 
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92. Large deposits of ignite were found in : 

(1) Chandigarh (2) Arunachal Pradesh 

(3) Tamil Nadu (4) Himachal Pradesh 

93. Best way to check soil erosion is : 

(1) Building dams  

(2) Prevention of pollution 

(3) Uprooting trees  

(4) Planting trees and green cover 

94. Minimum requirement of pulses recommended by WHO is : 

(1) 80 gm/day (2) 100 gm/day 

(3) 20 gm/day (4) 40 gm/day 

95. Which one of the following is not a product of Livestock ? 

(1) Meat (2) Wool 

(3) Milk (4) Rice 

96. Amla and Guava are rich source of : 

(1) Vitamin C (2) Vitamin K 

(3) Vitamin D (4) Vitamin E 
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97. Kwashiorkor and Marasmus are caused due to the deficiency of : 

(1) Fats (2) Proteins 

(3) Oils (4) Minerals 

98. Grass   Grasshopper   ...... . The missing link in food chain is : 

(1) Hawk (2) Sparrow 

(3) Rat (4) Bug 

99. Water cycle is driven by : 

(1) Solar energy (2) Nuclear energy 

(3) Coal energy (4) Sun’s heat energy 

100. Method used to measure distance to stars is : 

(1) Red shift of spectral lines  

(2) Yellow shift of spectral lines 

(3) Purple shift of spectral lines  

(4) Blue shift of spectral lines 
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   ,Q- ,l- Vh--01 

Lukrd mikf/k dk;ZØe ¼ch- Mh- ih-½ 

] ]

 

le; : 3 ?k.Vs     vf/kdre vad : 100 

 

 

1. lHkh iz'u vfuok;Z gSaA izR;sd iz'u 1 vad dk gSA 

2. ijh{kk d{k ds vanj lsyQksu] dSydqysVlZ] iqLrdsa] LykbM&:Yl] uksVcqDl ;k fyf[kr uksV~l] bR;kfn ys 

tkus dh vuqefr ugha gSA 

3. vkidks ijh{kk LFky ij dsanz O;oLFkkid o fujh{kd ds }kjk fn, x;s funsZ’kksa dk vuqikyu djuk gksxkA 

,slk u djus ij vkidks v;ksX; ?kksf”kr fd;k tk,xkA 

4. dksbZ ijh{kkFkhZ udy djrs ;k djkrs gq, idM+k tkrk gS rks mls v;ksX; ?kksf”kr dj fn;k tk,xkA 

5. vkidks fujh{kd }kjk iz’ui= rFkk vks- ,e- vkj- mŸkj i=d iznku fd;k tk,xkA ijh{kk lekIr gks tkus 

ds i’pkr~] ijh{kk d{k NksM+us ls igys vks- ,e- vkj- mŸkj i=d dks fujh{kd dks lkSai nsaA fdlh ijh{kkFkhZ 

}kjk ,slk u djus ij mls v;ksX; ?kksf”kr dj fn;k tk,xk rFkk fo’ofo|ky; mlds f[kykQ vkxs 

dk;Zokgh dj ldrk gSA 

6. lHkh jQ dk;Z iz’ui= ij gh djuk gS] fdlh vU; dkxt ij ughaA LØSi isij dh vuqefr ugha gSA mŸkj 

nsrs le; vki mŸkj&iqfLrdk esa gh gkf’k;s dk iz;ksx dj ldrs gSa] dqN fu’kku yxk ldrs gSa ;k js[kkafdr 

dj ldrs gSaA 

7. fo’ofo|ky; dks ;g vf/kdkj gS fd fdlh ijh{kkFkhZ }kjk vuqfpr O;ogkj ;k vuqfpr lk/kuksa dk iz;ksx 

djus ij mlds ifj.kke dks jí dj nsA fo’ofo|ky; dks Hkh pkfg, fd og lHkh ijh{kkfFkZ;ksa ds vadksa dh 

tk¡p ,dleku :i ls djsA ;fn dgha ls ,slk fn[kkbZ nsrk gS fd vkidk fu”iknu mfpr ugha gS] rks 

fo’ofo|ky; vkids ifj.kke jí dj ldrk gSA 
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& &

1. 9 vadksa esa viuk iw.kZ vuqØekad fy[ksaA ;g vuqØekad vks- ,e- vkj- mŸkj i=d ij vkids }kjk Mkys x, 

vuqØekad ls feyuk pkfg,A fn, x, LFkku esa viuk lgh uke] irk Hkh fiu dksM lfgr fy[ksaA 

vks- ,e- vkj- mŸkj i=d ij frfFk lfgr vius gLrk{kj djsaA ;g lqfuf’pr dj ysa fd vkids ijh{kk d{k 

esa fujh{kd us Hkh nh xbZ txg ij frfFk lfgr vks- ,e- vkj- mŸkj i=d ij gLrk{kj dj fn, gaSA 

2. vks- ,e- vkj- mŸkj i=d ij ijh{kkFkhZ dk fooj.k uhys@dkys cky isu }kjk Hkjk tkuk pkfg,A vuqØekad 

o ijh{kk dsanz dwV fy[kus o lkFk gh iz’u ds Øekad ds lkeus lgh mŸkj&la[;k okys xksys dks dkyk djus 

ds fy, Hkh uhys@dkys cky isu dk iz;ksx djsaA 

 3. bl i=d ij dksbZ vokafNr fu’kku u yxk;saA 

4. vuqØekad rFkk ijh{kk dsanz dwV LraHk esa lgh lwpuk vadksa esa fy[ksaA laxr xksys dks iw.kZr% xgjk djsa rFkk 

iw.kZ :i ls HkjsaA 

5. izR;sd iz’u ds pkj laHkkfor mŸkj gSa ftUgsa ¼1½] ¼2½] ¼3½ o ¼4½ }kjk n’kkZ;k x;k gSA vkidks buesa ls 

lokZf/kd mfpr mŸkj dks pqudj n’kkZuk gSA lokZf/kd mfpr mŸkj dks pqudj uhys@dkys cky isu ls iz’u 

ds Øekad ds lkeus lgh mŸkj okys xksys dks dkyk djsaA ;fn vkidks yxs fd iz’u ds uhps fn, gq, pkj 

fodYiksa esa ls dksbZ lgh ugha gS] vki xksys dks ^0* lfgr dkyk djsaA 

6. ,d ls vf/kd mŸkj gksus ij dksbZ vad ugha  feysxkA blfy, lokZf/kd mfpr mŸkj dks gh pqusaA 

7. ,d iz’u ij vf/kd le; er [kpZ dhft,A ;fn vkidks dksbZ iz’u dfBu yx jgk gks] rks mls NksM+dj 

vxys iz’u dks gy djus dk iz;kl dhft,A ckn esa le; cpus ij ml NksM+s gq, iz’u dk mŸkj ns ldrs 

gSaA 

8. xyr mŸkjksa gsrq dksbZ _.kkRed vadu ugha gksxkA 
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1. &

(1) (2)

(3) (4)

2. ^ & & *

(1) (2)

(3) (4) &

3. 

(1) (2)

(3) (4)

4. 

(1) (2)

(3) (4)

5. &

(1) (2)

(3) (4)

6. 

(1) (2)

(3) (4)
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7. 

(1) (2)

(3) (4)

8. 

(1) (2)

(3) (4)

9. 

(1) (2)

(3) (4)

10. 

(1) (2)

(3) (4)

11. 

(1) (2)

(3) (4)
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12. 

(1) (2)

(3) (4)

13. &

(1)

(2)

(3)

(4)

14. 

(1) (2)

(3) (4)

15. &

(1)

(2)

(3)

(4)
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16. ]

(1)

(2)

(3)

(4)

17. 

(1) (2)

(3) (4)

18. (IQ) 

(1) 
MA

100
CA

   (2) 
CA

100
MA

  

(3) 
MA

50
CA

  (4) 
CA

50
MA

  

19. 

(1) (2)

(3) (4)

20. 

(1) (2)

(3) (4)



FST-01 ( 31 )   

21. ^ * (Turnkey) 

(1)

(2)

(3)

(4)

22. 

(1) (2)

(3) (4)

23. &

(1)

(2)

(3)

(4)

24. 

(1) (2)

(3) (4)
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25. 

(1) (2)

(3) (4)

26. 

(1) (2)

(3) (4)

27. 

(1) (2)

(3) (4)

28. &

(1) (2) &

(3) (4) &

29. 

(1) × (2) × 

(3) × (4) × 



FST-01 ( 33 )   

30. ]

(1) (2)

(3) (4)

31. 

(1) a (2)

(3) (4)

32. 

(1) (2)

(3) (4)

33. 

(1) (2)

(3) (4)

34. 

(1) (2)

(3) (4)
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35. 

(1)

(2)

(3)

(4)

36. &

(1) (2) &

(3) (4)

37. 

(1) DUP (2) APU

(3) CPU (4) NPU

38. 

(1) (2)

(3) (4)

39. 

(1) (2)

(3) (4)
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40. 

(1) (2) ¡

(3) (4)

41. 

(1)

(2) &

(3)

(4)

42. 

(1) & (2) &

(3) & (4) &

43. 

(1) (2)

(3) (4)



FST-01 ( 36 )   

44. 

(1) (2)

(3) (4)

45. 

(1) (2)

(3) (4)

46. &

(1) (2)

(3) (4)

47. 

(1) (2)

(3) (4)

48. 

(1)

(2)

(3)

(4)



FST-01 ( 37 )   

49. 

(1) (2)

(3) ¡ (4)

50. &

(1) (2)

(3) (4)

51. 

(1) (2)

(3) (4)

52. 

(1) (2)

(3) (4)

53. 

(1) (2)

(3) (4)

54. 

(1) (2) &

(3) (4)



FST-01 ( 38 )   

55. 

(1) (2)

(3) (4)

56. CO2 + ............   + O2

(1) H2 (2) H2O

(3) H2O2 (4) O3

57. &

(1) (2)

(3) (4)

58. &

(1) > (2) > 

(3) > (4) > 

59. ]

(1) (2)

(3) & (4)



FST-01 ( 39 )   

60. (animals) ]

(1) ¡ (2)

(3) (4)

61. 

(1) (2)

(3) (4)

62. 

(1) (2)

(3) (4)

63. 

(1) (2)

(3) (4)

64. &

(1) (2)

(3) (4)
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65. &

(1)

(2)

(3)

(4)

66. PAN 

(1)

(2)

(3)

(4)

67. &

(1) (2)

(3) ¼ (4)

68. 

(1) (2)

(3) (4)
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69. 

(1) (2)

(3) (4)

70. 

(1) ] ] (2) ] ]

(3) ] (4) ]

71. 

(1) & (2)

(3) (4)

72. & ] &

]

(1) (2)

(3) (4)
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73. 

(1) (2)

(3) (4)

74. ]

(1) (2)

(3) (4)

75. ^ *

(1) (2)

(3) (4)

76. 

(1) (2)

(3) (4)

77. &

(1) (2)

(3) (4)
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78. 

(1) (2)

(3) (4)

79. ±

(1) (2)

(3) (4)

80. ^ *

(1) (2)

(3) (4)

81. ^ *

(1) (2)

(3) (4)

82. ^ *

(1) (2)

(3) (4)
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83. ß Þ

(1) (2)

(3) (4)

84. ß Þ

(1) (2)

(3) (4)

85. 

(1) (2)

(3) (4) &

86. 

(1) ] ] (2) ]

(3) ] (4) ]

87. 

(1) (2)

(3) (4)
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88. ^ *

(1)

(2)

(3)

(4)

89. ]

(1) (2)

(3) (4)

90. ¡

(1)

(2)

(3)

(4)

91. 

(1) (2)

(3) (4)
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92. 

(1) (2)

(3) (4)

93. 

(1) (2)

(3) (4)

94. 

(1) (2)

(3) (4)

95. &

(1) ¡ (2)

(3) (4)

96. ¡

(1) ^ * (2) ^ *

(3) ^ * (4) ^ *
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97. 

(1) (2)

(3) (4)

98. 

 

(1) (2)

(3) (4)

99. 

(1) (2)

(3) (4)

100. 

(1)

(2)

(3)

(4)



  

 ( 48 )  

Rough Work 
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